Subject: Re: Issues with weighting NEW Ethiopian DHS-2019
Posted by id709nvz on Tue, 17 Aug 2021 20:06:42 GMT

View Forum Message <> Reply to Message

Dear,
You can find it here, please go to the last few questions: DHS Burundi 1987 by Trevor-DHS

The idea of Trevor response is that

*Open KR 2000 (e.q)

gen wgt=v005/1000000

gen weight=(wgt*total FEMALE POPULATION)/FEMALE SAMPLE -For Ethiopian KR 2000; total
FEMALE POPULATION=14619 and FEMALE sample=15367

repeat the process for all survey rounds and use tab X [iw=weight] rather than tab X [iw=weight]
| look forward to hearing from you.

Kind regards
ZF
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